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CPA PART HISECTION 5

ADVANCED FINANCIAL MANAGEMENT
THURSDAY: 24 May 2018. Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings.

QUESTION ONE

(a) The objectives of a corporate governance system are to eliminate or mitigate conflicts of interest among stakeholiders,
particularly between managers and shareholders. and to ensure that the assets of the company are used efficiently and
productively in the best interest of the investors and other stakeholders.

Required:
In the context of the above statement, discuss four core attributes of an effective corporate governance system.
(4 marks)
(b) In relation to investment appraisal, evaluate four limitations of sensitivity analysis. (4 marks)
(c) Tabby Ltd. has a potential investment opportunity for which'the initial cash outlay and future cash flows are uncertain.
The analysis carried out provided the following probability estimates:
Probability estimates
Cash outlay Annual cash inflows
Probability Amount Probability Amount
Sh.«000” Sh.*000”
0.40 250,000 0.20 45,000
0.25 280,000
0.40 50,000
0.25 300,000
0.10 305,000 0.40 60,000
Additional information:
I The cost of capital is 10%.
2 Life of the project is expected to be 10 years.
3 The salvage value is zero.
Required:
(i) Construct a decision tree for the investment to show pay offs, probabilities and net present value (NPV) for
each alternative. (6 marks)
(ii) The expected NPV of the project. (3 marks)

(iii) If the NPV of the project is less than Sh.5 million, Tabby Ltd. would be exposed to a hostile takeover.
Compute the probability that Tabby Ltd. will avoid a hostile takeover.
(Assume a normal distribution and that the variance of the NPV is Sh.1,861.47 million). (3 marks)
(Total: 20 marks)
QUESTION TWO
(a)  The capital asset pricing model (CAPM) is subject to theoretical and practical limitations. Theoretical limitations are
inherent in the structure of the model, whereas practical limitations arise in implementing the model.

Required:
Summarise two practical limitations of CAPM. (2 marks)
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(b)

(c)

A portfolio manager creates the following portfolio:

Security Expected annual return (%) Expected standard deviation (%)
1 16 20
2 12 20
Required:
(i) The proportion invested in Security 1, if the portfolio of the two securities has an expected return of 15%.
(1 mark)
(ii) The expected standard deviation of an equal-weighted portfolio, if the correlation of returns between the two
securities is -0.15. (2 marks)
(iii) The expected standard deviation of an equal-weighted portfolio, if the returns of the two securities are

uncorrelated. (2 marks)

Kent Investment Fund (KIF) in which you plan to invest has a total capital of Sh.500 million invested in the shares of
five companies as follows:

Company Amount Beta
invested in shares coefficient
Sh.“million”

Alpha Ltd. 140 0.8

Beta Ltd. 80 ¥

Chatter Ltd. 120 3.0

Dinner Ltd. 100 1.0

Eastern Ltd. 60 2.5

Additional information:

The beta coefficient of KIF can be determined as a weighted average of the fund’s investment.

2 The current risk-free rate of return is 8%.
3. The market returns have the following estimated probability distribution for the next period:
Probability Market return (%)

0.1 7

0.2 9

0.4 11

0.2 13

0.1 15
Required:
(i) The estimated equation of the security market line (SML). _ (3 marks)
(ii) The fund’s required rate of return for the next period. (3 marks)
(iii) Suppose Anthony Muli, the Chief Investment Officer (C10) of KIF receives a proposal to invest in a new

company. The investment needed to take a position in the new company’s shares is Sh.50 million.

The forecasted rate of return from this investment and the probability of their occurrence in different states of
nature, are given as follows:

State of Probability Forecasted rate
Nature of return (%)
A 0.1 10
B 0.2 15
C 0.4 20
D 0.2 10
E 0.1 15

Using the capital asset pricing model (CAPM), advise Anthony Muli on whether to invest in the new
company’s shares. (7 marks)
(Total: 20 marks)

N A S B~




QUESTION THREE

(a)

(b)

(c)

Describe the following pre-offer takeover defensive mechanisms:

(i) Poison pills. (1 mark)
(ii) Golden parachutes. (1 mark}
(iii) Fair price amendments. (1 mark)
(iv) Supermajority voting provisions. (1 mark)
(v) Restricted voting rights. (I mark)

Explain five factors that Multinational Corporations (MNCs) should consider when making long-term investment
decisions. (5 marks)

Nangina Ltd. is considering acquiring Bwiri Ltd. Nangina Ltd. is contemplating financing of the acquisition of
Bwiri Ltd. using any of the following options:
Option 1: An ordinary share for ordinary share exchange

Under the terms of acquisition, Nangina Ltd, will offer one of its ordinary shares for every two shares in Bwiri Ltd.

Option 2: Ordinary shares for debentures exchange
Nangina Ltd. expects to offer 2 units of 10% debentures for every 100 ordinary shares in Bwiri Ltd. Each unit of
debenture has a par value of Sh.100 each.

The summarised financial information relating to the two companies for the year ended 30 November 2017 was as
follows:

Nangina Ltd. Bwiri Ltd.
Profit after tax (Sh.) 120 million 30 million
Number of shares 20 million 6 million
Earnings per Share (EPS) (Sh.) 6 5
Market price per share (Sh.) 50 25
Price earnings ratio 8.33 times 5 times
The corporate tax rate is 30%.
Required:
Determine the combined operating profit of the two firms and the post acquisition earnings per share (EPS) at the
point of indifference in the firm’s earnings under financing options (1) and (2) above. (10 marks)

(Total: 20 marks)

QUESTION FOUR

(a)

(b)

In relation to derivatives markets and contracts:

(i) Highlight four characteristics that are common to both forward contracts and futures contracts. (4 marks)
(ii) Differentiate between a “straddle™ and a “strangle™. (2 marks)
(i) Outline three methods of terminating a swap contract. (3 marks)

Lagdara Ltd., an unlevered firm, operates in the textile industry. The firm's current capital structure is summarised as
follows:

Sh. *000”
Ordinary share capital (Sh.50 par value) 120,000
Share premium 40,000
Retained earnings 80,000
Shareholders’ funds 240,000

The firm is considering borrowing 10% debt finance of Sh.40 million in order to finance an expansion programme,
making it a levered firm.



Additional information:
1. Annual earnings before interest and tax (EBIT) generated by the firm are Sh.60 million. This is expected to
remain constant cach year in perpetuity.

2: The firm’s ordinary shares are currently trading at a market price per share (MPS) of Sh.200 at the securities
exchange.

S, The corporate tax rate applicable is 30%.

Required:

(i) Using the Modigliani-Miller (M-M) approach and the information provided above, analyse the financial
implications of the change in capital structure of Lagdara Ltd. (9 marks)

(ii) Justifying your answer, advise the management of Lagdara Ltd. on whether to change its capital structure.

(2 marks)

(Total: 20 marks)

QUESTION FIVE

()

(b)

(©)

(d)

Assess five limitations of applying the free cash flow (FCF) approach using the weighted average cost of capital
(WACKC) as a discount rate when evaluating projects with different risks or debt capacity. (5 marks)

The issue of taxation relating to international trade has become important as business transactions become more
complicated. Transfer pricing is one such areéa which has come under scrutiny by tax authorities all over the world.
Transfer pricing has been of great concern to the government as it has made the government lose huge tax revenues.

Required:
In relation to the above statement. summarise three objectives of transfer pricing other than reducing tax liability.
(3 marks)

Kikumi Ltd. expects to receive 750.000 Euros from a credit customer in the European Union in 6 months’ time.
The spot exchange rate is 2.349 Euros (EUR) per United States Dollar (USD) and the 6-month forward rate is 2.412
Euros per USD.

The following commercial interest rates are available to Kikumi Ltd.

Deposit rate per annum (%) Borrowing rate per annum (%)
EUR 4.0 8.0
USD 20 3.5

Kikumi Ltd. does not have any surplus cash to use in hedging the future Euro receipt.

Required:
Evaluate whether the money market hedge or a forward hedge would be preferred. (7 marks)

Kisima Ltd. expects free cash flows of Sh.7.36 million this year and a future growth rate of 4% per annum. Currently,
the firm has Sh.30 million in debt outstanding. This leverage will remain fixed during the year but at the end of each
year, Kisima Ltd. is expected to increase or decrease its debt to maintain a constant debt/equity ratio.

Kisima Ltd. pays 5% interest on its debt and has an unlevered cost of capital of 12%.
The corporate tax rate is 40%.
Required:

Compute the value of Kisima Ltd. (5 marks)
’ (Total: 20 marks)
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